10+2=

25+5=

12+2=
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20+-4=

Rob has 12 coins in
his piggy bank. He is
given 3 more coins.
How many coins has
he got now?
| am a round,
silver coin. | am
2x10= between 5p
and 20p. What
) am I?
A bus ticket costs
15p. How much
would two
tickets cost?
| am an even
number. | am
5x8= between 37
and 40. What
A 24cm length of amI?
wood is cut into
two equal lengths.
What is the length
of each piece?
I am a money
note. lam
4x3= between £50
and £20. What
The result of a rugby amI?
match was 9 points
to 4. What was the
points difference
between the two
2
seoress My two digits
are the same.
1x9= Each digit is one-
half of 10. What
am I?

\ / 10x 10 = 5x5=
In a game of darts
/ Claire needs 91 to \ / I'am half of 12 \
win. She scores 89. and double 3.
What number does What number
she need to score am I?
to win?
10+ 10 = 2x7=
There are 5 1 more than
toes on a foot. me is 100.
How many toes What number
are thereon 7
am I?
feet?
100 x 100 = 10x4 =
A squirrel has 24 . I_have tWO.
nuts. He eats half digits. My units
of them. How digitis 2.  am
many nuts does he less than 20.
have left? What am I?
100 + 100 = 3x9-=
There are 23 lama 3D
girls in a class. shape. lam
13 are boys. shaped like a
How many girls ball. What
are in the shape am I?




